Identification strategy
1. What economic mechanism caused the dispersion of our right hand side variables?

a. PQ: 

i. International price of good (external demand shifts)

ii. Local demand shifts 

iii. Market power of some firms (supply side)

b. Labor
:

i. Q <= expectations for demand for Q

ii. Wage <= unemployment (efficiency wages)

c. Water:
i. Q <= expectations for demand for Q

ii. ¿¿BOD?? If yes, we have simultaneity. Needs to be solved.
d. Energy

i. Q

ii. Penergy

e. Flow

i. Q
� General comments for inputs: obviously the Labor is an implicit function of Energy and Pollution, and vice versa, for example, because you need more energy to help your workers to see and work, you need less labor if you are going to pollute more. Also, you need more workers if you are going to demand more energy and less pollution. But this mulricollinearity is an unavoidable, natural problem and therefore I do not include insputs as determinants of inputs.








